



HAL
open science

Two Pile Move-Size Dynamic Nim

Arthur Holshouser, Harold Reiter

► **To cite this version:**

Arthur Holshouser, Harold Reiter. Two Pile Move-Size Dynamic Nim. Discrete Mathematics and Theoretical Computer Science, 2005, Vol. 7, pp.1-10. 10.46298/dmtcs.355 . hal-00959055

HAL Id: hal-00959055

<https://inria.hal.science/hal-00959055v1>

Submitted on 13 Mar 2014

HAL is a multi-disciplinary open access archive for the deposit and dissemination of scientific research documents, whether they are published or not. The documents may come from teaching and research institutions in France or abroad, or from public or private research centers.

L'archive ouverte pluridisciplinaire **HAL**, est destinée au dépôt et à la diffusion de documents scientifiques de niveau recherche, publiés ou non, émanant des établissements d'enseignement et de recherche français ou étrangers, des laboratoires publics ou privés.

Two Pile Move-Size Dynamic Nim

Arthur Holshouser¹ and Harold Reiter²

¹3600 Bullard St., Charlotte, NC, USA

²Department of Mathematics, University of North Carolina Charlotte, Charlotte, NC 28223, USA

hbreiter@email.uncc.edu

The purpose of this paper is to solve a special class of combinatorial games consisting of two-pile counter pickup games for which the maximum number of counters that can be removed on each successive move changes during the play of the games. Two players alternate moving. Each player in his turn first chooses one of the piles, and his choice of piles can change from move to move. He then removes counters from this chosen pile. A function $f : \mathbf{Z}^+ \rightarrow \mathbf{Z}^+$ is given which determines the maximum size of the next move in terms of the current move size. The game ends as soon as one of the two piles is empty, and the winner is the last player to move in the game. The games for which $f(k) = k$, $f(k) = 2k$, and $f(k) = 3k$ use the same formula for computing the smallest winning move size. Here we find all the functions f for which this formula works, and we also give the winning strategy for each function. See [7] for a discussion of the single pile game.

Keywords: Nim, dynamic, combinatorial games

1 Introduction

Two players alternate removing counters from two piles. Each player in his turn first chooses one of the piles, which can change from move to move. He then removes counters from this pile.

An ordered triple $(a, b, x) = (b, a, x)$ of positive integers is called a position, where a and b represent the sizes of the two piles of counters, and x represents the greatest number of counters that can be removed from the chosen pile on the next move. A function $f : \mathbf{Z}^+ \rightarrow \mathbf{Z}^+$ is given which determines the maximum size of the next move in terms of the current move size. Thus a move in a game is an ordered pair of positions $(a, b, x) \mapsto (a - k, b, f(k))$, where $1 \leq k \leq \min(a, x)$, or $(a, b, x) \mapsto (a, b - k, f(k))$, where $1 \leq k \leq \min(b, x)$. The game ends as soon as *one* of the two piles is empty, and the winner is the last player to move in the game. At the start of the game, the position (a, b, x) is specified.

We started this project by studying the strategy for the simple move functions $f(k) = k$, $f(k) = 2k$, and $f(k) = 3k$. We then noticed that the smallest winning move size for each of these three functions is computed by the same formula, which we will soon state in the main theorem. We then took upon ourselves the problem of finding (with proof) all functions $f : \mathbf{Z}^+ \rightarrow \mathbf{Z}^+$ for which this formula works. This paper gives the complete solution to this problem. This also explains why many of the functions that we must include may seem quite artificial.

As an example, consider the function $f(k) = k$ and the initial position $(a, b, x) = (3, 4, 2)$. This means the first moving player can take 1 or 2 counters from either pile. Suppose he removes 2 counters from the pile with 4 counters. The move can be depicted as $(3, 4, 2) \mapsto (3, 4 - 2, f(2)) = (3, 2, 2)$. Then the second moving player can remove 1 or 2 from either pile. Suppose he takes 2 from the pile with 2 counters. He wins the game because he has created an empty pile.

Notation. The set of positive integers is denoted by \mathbf{Z}^+ and $\mathbf{B} = \{1, 2, 4, 8, 16, 32, \dots\}$, the binary base.

Definition 1. For each positive integer N , $\bar{g}(N)$ is the greatest power of 2 that divides N . Also, $\bar{g}(0) = \infty$. Thus $\bar{g}(1) = 1$, $\bar{g}(24) = 8$ since $8 \mid 24$ and 16 does not divide 24. Observe that $N \geq \bar{g}(N)$, and $\bar{g}(N) \in \mathbf{B}$ when $N \in \mathbf{Z}^+$.

2 Admissible Functions

Definition 2. A function $f : \mathbf{Z}^+ \rightarrow \mathbf{Z}^+, f(\infty) = \infty$, is called admissible if it satisfies the following four conditions:

1. For all $N \in \mathbf{Z}^+$, $f(\bar{g}(N)) \leq f(N)$.
2. For all $N \in \mathbf{B}$, $f(N) < 4N$.
3. For all $N \in \mathbf{B}$, $N \leq f(N)$.
4. For all $N \in \mathbf{B}$, $f(N) < 2N$ or $N + f(N) \leq f(2N)$.

The admissible functions are precisely the ones that satisfy our main theorem. It is easy to see that $f(N) = N, f(N) = 2N, f(N) = 3N$ satisfy these 4 conditions, but $f(N) = 4N$ does not. Also, if $r > 0$ is a real number, $f(N) = \lfloor rn \rfloor$ satisfies these 4 conditions if and only if $1 \leq r < 4$. Also, $f(N) = \lceil rn \rceil$ satisfies these 4 conditions if and only if $1 \leq r \leq 3$. Of course, the functions included in Definition 2 can be far more complex than any of these ‘primitive’ functions.

We now make the problem more precise.

3 The Problem

Two players play the game using an admissible function f . If a, b are the two pile sizes, the *pile* position can be denoted either as (a, b) or as (b, a) . For every pile position (a, b) , we wish to compute $L(a, b)$, which we define as the least winning move size. This means that a winning move is a remove $L(a, b)$ counters from one of the piles. Of course, $L(a, b)$ by itself does not necessarily tell the player from which pile $L(a, b)$ is to be removed. However, this fact will be revealed in the proof that we soon give. We also state this strategy immediately after the main theorem. Also, if $x < L(a, b)$, the removal of x counters must be a losing move no matter from which of the two piles x counters is removed.

4 The Solution

We define $L(a, b) = \infty$ if $a = 0$ or $b = 0$ because the game is over once one pile is empty. We can easily see that $L(a, b)$ is the least $x \in \{1, 2, 3, \dots, \min\{a, b\}\}$ such that $f(x) < L(a - x, b)$ or $f(x) < L(a, b - x)$. Of course, $L(a, b) = L(b, a)$.

In this paper, it is more convenient to denote a pile position as (a, N) , where $a \leq b$ and $N = b - a$. Thus (a, N) means that ‘ a ’ is the smaller pile size and N is the difference between the larger pile size and the smaller pile size. Hence we wish to compute $L(a, N)$, $0 \leq a$, $0 \leq N$. Of course, $L(0, N) = \infty$.

The following theorem finds $L(a, N)$ for all admissible functions.

Main Theorem. *Let $f : \mathbf{Z}^+ \rightarrow \mathbf{Z}^+$ be an admissible function. For all positions (a, N) , where $a \geq 1$, the least winning move $L(a, N)$ is computed by the following rule:*

Case 1 If $a \leq f(\bar{g}(N))$, then $L(a, N) = a$.

Case 2 If $a > f(\bar{g}(N))$, then $L(a, N) = \bar{g}(N)$.

Since $\bar{g}(0) = \infty$, $f(\infty) = \infty$ and $a < \infty$, this means $L(a, 0) = a$.

Strategy. The strategy also provides a partial outline of the proof of the main theorem.

Case 1 If $a \leq f(\bar{g}(N))$, then $L(a, N) = a$. The moving player removes a counters from the smaller pile and wins immediately.

Case 2 If $a > f(\bar{g}(N))$, then $L(a, N) = \bar{g}(N)$ and, from Note 1, which we state and prove in section 5, $\bar{g}(N) < a$. The strategy has two subcases.

A. Suppose $\bar{g}(N - \bar{g}(N)) \geq 4\bar{g}(N)$. This includes the subcase where $N - \bar{g}(N) = 0$. The moving player removes $\bar{g}(N)$ counters from the larger pile.

B. Suppose $\bar{g}(N - \bar{g}(N)) = 2\bar{g}(N)$. Observe that (2(B)1) and (2(B)2) below are not mutually exclusive.

(1) Suppose $f(\bar{g}(N)) < 2\bar{g}(N)$. Then the moving player removes $\bar{g}(N)$ from the larger pile.

(2) Suppose $\bar{g}(N) + f(\bar{g}(N)) \leq f(2\bar{g}(N))$. If $f(\bar{g}(N)) < a - \bar{g}(N)$, then the moving player removes $\bar{g}(N)$ from the smaller pile. But if $f(\bar{g}(N)) \geq a - \bar{g}(N)$, then the moving player removes $\bar{g}(N)$ from the larger pile.

Remark. At the end of the paper, we show that the main theorem is true for an arbitrary $f : \mathbf{Z}^+ \rightarrow \mathbf{Z}^+$, $f(\infty) = \infty$, if and only if f is admissible.

5 Preliminary Work

Note 1. In case 1, $L(a, N) = a \leq f(\bar{g}(N))$. In case 2, $L(a, N) = \bar{g}(N) \leq f(\bar{g}(N)) < a$, where we note that $\bar{g}(N) \leq f(\bar{g}(N))$ is true by Condition 3 on f since $\bar{g}(N) \in \mathbf{B} = \{1, 2, 4, 8, \dots\}$. Therefore, if the main theorem is true for a position (a, N) , $a \geq 1$, then $L(a, N) \leq a$ and $L(a, N) \leq f(\bar{g}(N))$. Of course, $L(a, N) \leq a$

is also clear since the removal of a counters from the smaller pile is an immediate win. We will prove the main theorem by first proving three lemmas.

Lemma 1. *For all $x, N \in \mathbf{Z}^+$, if $\bar{g}(x) < \bar{g}(N)$ and $x < N$, then $\bar{g}(x) = \bar{g}(N - x) = \bar{g}(N + x)$. If $\bar{g}(x) < \bar{g}(N)$ and $x > N$ then $\bar{g}(x) = \bar{g}(N + x)$.*

Proof. Use the binary representation. □

Corollary. *If $x, N \in \mathbf{Z}^+$ and $x < \bar{g}(N)$, then $\bar{g}(x) \leq x < \bar{g}(N) \leq N$ which implies $\bar{g}(x) = \bar{g}(N - x) = \bar{g}(N + x)$.*

Lemma 2. *Let $f : \mathbf{Z}^+ \rightarrow \mathbf{Z}^+$ be admissible. Suppose $\bar{x}, \bar{y} \in \mathbf{B}$ and $\bar{x} < \bar{y}$. Then $f(\bar{x}) \leq f(\bar{y})$.*

Proof. Suppose $f(\bar{x}) > f(\bar{y})$. Then it is easy to see that there exists $x \in \mathbf{B}$ such that $f(x) > f(2x)$, since f cannot be non-decreasing on $\{\bar{x}, 2\bar{x}, 4\bar{x}, 8\bar{x}, \dots, \bar{y}\}$. Now since $2x \in \mathbf{B}$, we know by Condition 3 on f that $f(2x) \geq 2x$. Therefore, $f(x) > f(2x) \geq 2x$. This means $f(x) > 2x$. Therefore, since $x \in \mathbf{B}$, we know by Condition 4 on f that $x + f(x) \leq f(2x)$. Therefore, $f(x) < f(2x)$, which contradicts the fact that $f(x) > f(2x)$. □

Given the position (a, N) , suppose we remove x counters from the larger pile. The new position becomes $(a, N - x)$ as long as $0 \leq N - x$. However, if $N - x < 0$, the new position becomes $(a + N - x, x - N)$. This is because when $N - x < 0$, the smaller pile size becomes $a + N - x$, the larger pile size becomes ' a ', and the difference between the larger and smaller pile size becomes $x - N$. We now state Lemma 3.

Lemma 3. *Suppose f is admissible and the conclusion of the main theorem is true for all positions $(a, N), a \geq 1$. For the position (a, N) , suppose $a \leq f(\bar{g}(N))$. That is, (a, N) comes under Case 1 of the main theorem (4). Suppose x counters are removed from the larger pile, where $N < x < a + N$. The new position becomes $(a + N - x, x - N)$, where $1 \leq a + N - x < a$ and $1 \leq x - N$. Then it cannot be the case that $f(x) < L(a + N - x, x - N)$.*

Proof. Since the main theorem is true for the position $(a + N - x, x - N)$ and also $1 \leq a + N - x < a, 1 \leq x - N$, we know by note 1 that $L(a + N - x, x - N) \leq \min(a + N - x, f(\bar{g}(x - N)))$. We now consider two cases:

Case A: $\bar{g}(x) \neq \bar{g}(N)$, and

Case B: $\bar{g}(x) = \bar{g}(N)$.

Case A Since $\bar{g}(x) \neq \bar{g}(N)$ and $x - N \geq 1$, it is easy to see that $\bar{g}(x) \geq \bar{g}(x - N)$. Note that $\bar{g}(x) \in \mathbf{B}, \bar{g}(x - N) \in \mathbf{B}$. Now from lemma 2 and Condition 1 on f , we know that $f(x) \geq f(\bar{g}(x)) \geq f(\bar{g}(x - N))$. Therefore, if $f(x) < L(a + N - x, x - N)$, we would have (by combining the above information) $f(x) < L(a + N - x, x - N) \leq f(\bar{g}(x - N)) \leq f(x)$, a contradiction since $f(x) < f(x)$ is impossible.

Case B Since we are assuming in lemma 3 that $a \leq f(\bar{g}(N))$, we have $a \leq f(\bar{g}(N)) = f(\bar{g}(x)) \leq f(x)$, where $f(\bar{g}(x)) \leq f(x)$ from Condition 1 on f . Therefore, $a \leq f(x)$. Now $f(x) < L(a+N-x, x-N)$ implies $f(x) < L(a+N-x, x-N) \leq a+N-x < a \leq f(x)$, a contradiction since $f(x) < f(x)$ is impossible. □

It is important to note that although lemma 3 assumes the main theorem is true for all positions (a, N) , $a \geq 1$, it can also be used later in the induction argument since $1 \leq a+N-x < a$, the induction will be on a , and we will only be interested in the position $(a+N-x, x-N)$.

6 Proof of the Main Theorem

Starting the Induction

We now prove that the main theorem is true for all positions (a, N) , $a \geq 1$, by mathematical induction on a . Of course, $L(0, N) = \infty$. Now $L(1, N) = 1$ is obvious for all N since the removal of 1 counter from the smaller pile is an immediate win. Also, $a = 1 \leq f(\bar{g}(N))$ is true for all N , which means that the theorem requires $L(1, N) = 1$.

Since the induction is started, we can assume the theorem is true for all positions (\bar{a}, N) , $\bar{a} = 1, 2, \dots, a-1$, $a \geq 2$. We will now prove that the theorem is true for all positions (a, N) . We do this by induction on N in the order $(a, 0), (a, 1), (1, 2), (a, 3), \dots$

First, note that for all positions (a, N) , $a \geq 1$, it is true that $L(a, N) \leq a$. This is because the removal of a counters from the smaller pile is an immediate win since a is the smaller pile size. We now show that $L(a, 0) = a$, as is required by the theorem. By symmetry, since $a = b$, we see that $L(a, 0)$ is the least $x \in \{1, 2, \dots, a\}$ such that $f(x) < L(a-x, x)$. First, we show that $x \notin \{1, 2, 3, \dots, a-1\}$. Now $f(\bar{g}(x)) \leq f(x)$ by Condition 1 on f . From note 1 (since $a-x \geq 1$) and from the induction, we know that $L(a-x, x) \leq f(\bar{g}(x)) \leq f(x)$. Therefore, if $x \in \{1, 2, \dots, a-1\}$ and $f(x) < L(a-x, x)$, we would have $f(x) < L(a-x, x) \leq f(x)$, a contradiction. Of course, when $x = a$, we have the obvious fact that $f(x) = f(a) < L(a-a, a) = L(0, a) = \infty$. Therefore, $L(a, 0) = a$ is true, as it should be.

Main Induction

Next, we deal successively with $L(a, \bar{N})$, $\bar{N} \geq 1$ and \bar{N} starting at $\bar{N} = 1$ and increasing. We assume that main theorem is true for $\bar{N} \in \{1, 2, \dots, N-1\}$, and we show it is true for (a, N) .

To evaluate $L(a, N)$, we must find the least $x \in \{1, 2, 3, \dots, a\}$ such that

- (a) $f(x) < L(a, N-x)$, and $N-x \geq 0$, or
- (b) $f(x) < L(a-x, N+x)$,

where we note in (a) that we only need to consider x where $N-x \geq 0$. This is because of two reasons. First, when $a > f(\bar{g}(N))$, we need to prove $L(a, N) = \bar{g}(N)$. Now $\bar{g}(N) \leq N$ when $N \in \mathbf{Z}^+$. Therefore, we only need to consider x in the range $1, 2, 3, \dots, \bar{g}(N)$, and obviously $0 \leq N-x$ in this range. Second, when

$a \leq f(\bar{g}(N))$, lemma 3 along with the mathematical induction of those (\bar{a}, \bar{N}) 's that we have already dealt with shows us that $f(x) < L(a+N-x, x-N)$ is impossible when $1 \leq a+N-x < a$ and $N-x < 0$.

Note that $1 \leq a+N-x < a$ when $x \in \{1, 2, 3, \dots, a\}$, $1 \leq N$, and $N-x < 0$ which means that the induction on a can be used. This means that lemma 3 can be used with the induction on a since $a+N-x < a$, a technicality that we mentioned above. We will now consider two cases for (a, N) , which correspond to the two cases given in the main theorem.

7 The Two Cases

Case 1 $a \leq f(\bar{g}(N))$. We must show $L(a, N) = a$.

Case 2 $a > f(\bar{g}(N))$. We must show $L(a, N) = \bar{g}(N)$.

Case 1

$a \leq f(\bar{g}(N))$. We must show $L(a, N) = a$. Therefore, we must show that the least $x \in \{1, 2, 3, \dots, a\}$ such that (a) or (b) is true is $x = a$. Of course, (b) is true for $x = a$ since $f(a) < L(a-a, N+a) = L(0, N+a) = \infty$. So let us show that $x \in \{1, 2, 3, \dots, a-1\}$ will not work in (a) or (b).

We take care of (a) first, and we consider two subcases for (a). Of course, we can assume $N-x \geq 0$ in (a) as we have already shown.

Subcase A $f(x) \geq a$. If (a) is true, we have $f(x) < L(a, N-x) \leq a \leq f(x)$, a contradiction. Note that $L(a, N-x) \leq a$ is true since for any position (a, N) , $a \geq 1$, it is always true that $L(a, N) \leq a$ since a is the smaller pile size.

Subcase B $f(x) < a$. We have $f(x) < a \leq f(\bar{g}(N))$ from the definitions of Subcase B and Case 1. First, suppose $\bar{g}(N) \leq \bar{g}(x)$. Since $\bar{g}(N) \in \mathbf{B}$, $\bar{g}(x) \in \mathbf{B}$, from lemma 2 and Condition 1 on f we have $f(\bar{g}(N)) \leq f(\bar{g}(x)) \leq f(x)$, a contradiction since $f(x) < f(\bar{g}(N))$ is true. Therefore, $\bar{g}(x) < \bar{g}(N)$ is true. $x < N$ is true since $x \leq N$. So by lemma 1, $\bar{g}(x) = \bar{g}(N-x)$. Therefore, $f(\bar{g}(N-x)) = f(\bar{g}(x)) \leq f(x)$ by Condition 1 on f . Of course, $1 \leq N-x$ is true since $x < N$. Now if (a) is true, we have $f(x) < L(a, N-x)$ and $N-x \geq 0$. Actually $N-x \geq 1$. Therefore, $f(x) < L(a, N-x) \leq f(\bar{g}(N-x)) \leq f(x)$, a contradiction. Note 1 and the induction hypothesis implies that $L(a, N-x) \leq f(\bar{g}(N-x))$ since $N-x < N$ and $1 \leq a$.

We next show that $x \in \{1, 2, 3, \dots, a-1\}$ will not work in (b). We consider two subcases.

Subcase A: $f(x) \geq a-x$. If (b) is satisfied, $f(x) < L(a-x, N+x) \leq a-x \leq f(x)$, a contradiction. Note that $L(a-x, N+x) \leq a-x$ since $L(\bar{a}, N) \leq \bar{a}$ when $\bar{a} \geq 1$, and $1 \leq a-x = \bar{a}$.

Subcase B: $f(x) < a-x$. This means that $x+f(x) < a$. First suppose $\bar{g}(x) \geq \bar{g}(N)$. Therefore, $f(x) \geq f(\bar{g}(x)) \geq f(\bar{g}(N))$, by Condition 1 on f and lemma 2 since $\bar{g}(x) \in \mathbf{B}$, $\bar{g}(N) \in \mathbf{B}$. Therefore, $x+f(x) \geq x+f(\bar{g}(N)) \geq x+a$, definition of Case 1, $> a > x+f(x)$, a contradiction since $x+f(x) > x+f(x)$ is impossible. Therefore, $\bar{g}(x) < \bar{g}(N)$ is true. This implies $\bar{g}(x) =$

$\bar{g}(N+x)$, lemma 1. Thus $f(x) \geq f(\bar{g}(x)) = f(\bar{g}(N+x))$, by Condition 1 on f . But if x satisfies (b), we have $f(x) < L(a-x, N+x) \leq f(\bar{g}(N+x)) \leq f(x)$, a contradiction. By note 1 and the induction $L(a-x, N+x) \leq f(\bar{g}(N+x))$ since $1 \leq a-x < a$.

We now deal with Case 2.

Case 2

$a > f(\bar{g}(N))$. We must show $L(a, N) = \bar{g}(N)$. Therefore, we must show that the least $x \in \{1, 2, 3, \dots, a\}$ such that (a) or (b) is satisfied is $x = \bar{g}(N)$. Of course, $N \geq 1$. Note that $\bar{g}(N) \leq f(\bar{g}(N)) < a$, by Condition 3 on f (since $\bar{g}(N) \in \mathbf{B}$) and the definition of Case 2. Also, remember $\bar{g}(N) \leq N$.

Dealing with $x \in \{1, 2, \dots, \bar{g}(N) - 1\}$.

Let us first show that $x \in \{1, 2, 3, \dots, \bar{g}(N) - 1\}$ will not work in (a) or (b). Note that $N-x \geq 1$ when $x < \bar{g}(N) \leq N$. Now $x < \bar{g}(N)$ implies $\bar{g}(x) = \bar{g}(N-x) = \bar{g}(N+x)$ by lemma 1. Therefore, by Condition 1 on f , $f(x) \geq f(\bar{g}(x)) = f(\bar{g}(N-x)) = f(\bar{g}(N+x))$.

If (a) is satisfied by $x < \bar{g}(N)$, we have $f(x) < L(a, N-x)$, $1 \leq N-x$. Therefore, by note 1, the fact that $1 \leq N-x$, and the induction (since $N-x < N$), we have $f(x) < L(a, N-x) \leq f(\bar{g}(N-x)) \leq f(x)$, a contradiction. If (b) is satisfied, we have $f(x) < L(a-x, N+x) \leq f(\bar{g}(N+x)) \leq f(x)$, a contradiction. Note that $1 \leq a-x$ is true since $x < \bar{g}(N) \leq f(\bar{g}(N)) < a$, (as stated above). Thus $L(a-x, N+x) \leq f(\bar{g}(N+x))$ follows by note 1, the induction (since $a-x < a$) and $1 \leq a-x$.

Dealing with $x = \bar{g}(N)$.

Let us now show that $x = \bar{g}(N)$ will satisfy at least one of (a) or (b). We consider two possibilities. Remember, $\bar{g}(N) < a$ and $\bar{g}(N) \leq N$.

First, suppose $\frac{\bar{g}(N-\bar{g}(N))}{\bar{g}(N)} \geq 4$. This also includes the case where $N-\bar{g}(N) = 0$, so that $\bar{g}(N-\bar{g}(N)) = \infty$.

We show that $x = \bar{g}(N)$ satisfies (a). That is $f(x) < L(a, N-x)$, $0 \leq N-x$. Of course, $0 \leq N-x$ is obvious since $\bar{g}(N) \leq N$. Letting $x = \bar{g}(N)$, we have $\bar{g}(N-x) \geq 4x$. But $f(x) < 4x$ is true by Condition 2 on f since $x = \bar{g}(N) \in \mathbf{B}$. Therefore, $f(x) < 4x \leq \bar{g}(N-x)$. Therefore, $f(x) < \bar{g}(N-x)$. Also, $f(x) = f(\bar{g}(N)) < a$, by the definition of Case 2. Therefore, $f(x) = f(\bar{g}(N)) < L(a, N-x)$, since $f(x) < a$ and $f(x) < \bar{g}(N-x)$ and $L(a, N-x) \in \{a, \bar{g}(N-x)\}$ where we note that $L(a, N-x) \in \{a, \bar{g}(N-x)\}$ is true by induction since $0 \leq N-x < N$. This means that (a) is satisfied by $x = \bar{g}(N)$.

Next, suppose $\frac{\bar{g}(N-\bar{g}(N))}{\bar{g}(N)} \not\geq 4$. This means $\frac{\bar{g}(N-\bar{g}(N))}{\bar{g}(N)} = 2$.

Now by Condition 4 on f , $x = \bar{g}(N)$ satisfies either $f(x) < 2x$ or $x + f(x) \leq f(2x)$ since $x = \bar{g}(N) \in \mathbf{B}$, where $\mathbf{B} = \{1, 2, 4, 8, \dots\}$.

First, suppose $f(x) < 2x$. We show that $x = \bar{g}(N)$ satisfies (a). That is, we show $f(x) < L(a, N-x)$ and $N-x \geq 0$. Of course, $N-x = N-\bar{g}(N) \geq 0$ is true. Letting $x = \bar{g}(N)$ in $\bar{g}(N-\bar{g}(N)) = 2\bar{g}(N)$, we have $\bar{g}(N-x) = 2x$. This means $f(x) = f(\bar{g}(N)) < 2x = \bar{g}(N-x)$. Therefore, $f(x) < \bar{g}(N-x)$. Also, $f(x) = f(\bar{g}(N)) < a$, by the definition of Case 2. Therefore, $f(x) = f(\bar{g}(N)) < L(a, N-x)$ since $f(x) < a$, $f(x) < \bar{g}(N-x)$ and $L(a, N-x) \in \{a, \bar{g}(N-x)\}$ by the mathematical induction since $N-x < N$. This means (a) is satisfied by $x = \bar{g}(N)$.

We next assume $x = \bar{g}(N)$ satisfies $x + f(x) \leq f(2x)$ along with the above assumption that $x = \bar{g}(N)$ satisfies $\bar{g}(N - x) = 2x$.

Now $\bar{g}(N - \bar{g}(N)) = 2\bar{g}(N)$ implies $4\bar{g}(N) \leq \bar{g}(N + \bar{g}(N))$ since N must be of the binary form

$$N = XXXX \cdots X1100 \cdots 00.$$

That is $4x \leq \bar{g}(N + x)$.

We now consider two subcases, where $x = \bar{g}(N)$. Recall that $f(\bar{g}(N)) < a$ in Case 2.

Subcase A: $f(x) < a - x$. We show that (b) is satisfied by $x = \bar{g}(N)$. That is, we show $f(x) < L(a - x, N + x)$. Remember, $x = \bar{g}(N) < a$.

Now $f(x) < 4x$, by Condition 2 on f since $x = \bar{g}(N) \in \mathbf{B}$. Therefore, we know $f(x) < a - x$ and $f(x) < 4x \leq \bar{g}(N + x)$, when $x = \bar{g}(N)$. Therefore, $f(x) < L(a - x, N + x)$ since $f(x) < a - x, f(x) < \bar{g}(N + x), 1 \leq a - x$ and $L(a - x, N + x) \in \{a - x, \bar{g}(N + x)\}$, by the induction since $a - x < a$. This means (b) is satisfied by $x = \bar{g}(N)$.

Subcase B: $f(x) \geq a - x$. We now show that (a) is satisfied by $x = \bar{g}(N)$. This means that we show $f(x) < L(a, N - x)$. Of course, $0 \leq N - \bar{g}(N) = N - x$.

Now $a \leq x + f(x) \leq f(2x)$, by the definition of Subcase B and the above assumption about x . Therefore, $a \leq f(2x)$. Also, $\bar{g}(N - x) = 2x$ from the above assumption. Therefore, $f(\bar{g}(N - x)) = f(2x)$. Thus $a \leq f(2x) = f(\bar{g}(N - x))$. That is, $a \leq f(\bar{g}(N - x))$. Therefore, the induction on the main theorem implies $L(a, N - x) = a$ since $N - x < N$ and $a \leq f(\bar{g}(N - x))$. Also by the definition of Case 2, $f(x) = f(\bar{g}(N)) < a$. Therefore, $f(x) < L(a, N - x)$, which means that (a) is satisfied by $x = \bar{g}(N)$. \square

We now state the converse of the main theorem.

Converse Theorem. *Suppose $f : \mathbf{Z}^+ \rightarrow \mathbf{Z}^+, f(\infty) = \infty$, is given, and we play our game with this function f . Suppose also that the conclusion of the main theorem is true for f . Then it is also true that f satisfies all of the 4 conditions listed in Definition 2.*

Proof.

(1) We show that f satisfies Condition 1. Therefore, suppose there exists $x \in \mathbf{Z}^+$ such that $f(\bar{g}(x)) > f(x)$.

We show that this leads to a contradiction. Consider the position $(a, N) = (f(\bar{g}(x)) + x, 0)$. Now since the main theorem is true, $L(f(\bar{g}(x)) + x, 0) = f(\bar{g}(x)) + x$. Let us now remove x counters from one of the equal piles. This gives the new position $(\bar{a}, \bar{N}) = (f(\bar{g}(x)), x)$. Now $\bar{a} = f(\bar{g}(x))$ and $f(\bar{g}(\bar{N})) = f(\bar{g}(x))$. Thus $\bar{a} \leq f(\bar{g}(\bar{N}))$. Therefore, $(f(\bar{g}(x)), x)$ comes under Case 1 of the main theorem, which means $L(f(\bar{g}(x)), x) = f(\bar{g}(x))$.

This also means $f(x) < L(f(\bar{g}(x)), x) = f(\bar{g}(x))$ since we are assuming that $f(x) < f(\bar{g}(x))$. Now since $x < f(\bar{g}(x)) + x$, this means that $L(f(\bar{g}(x)) + x, 0) = f(\bar{g}(x)) + x$ cannot be true, which contradicts the main theorem.

- (2) We show that f satisfies Condition 2. Suppose there exists $x \in \mathbf{B}$ such that $f(x) \geq 4x$. Consider the position $(a, N) = (a, 3x)$, where $a \in \mathbf{Z}^+$, $a > \bar{g}(N)$, $a > f(\bar{g}(N))$, $a > f(\bar{g}(N - \bar{g}(N)))$ and $a - \bar{g}(N) > f(\bar{g}(N + \bar{g}(N)))$.

In binary we can write $x = 1\underbrace{0000}$, $N = 3x = 11\underbrace{0000}$, where $\underbrace{0000}$ represents a string of 0's. Since $x \in \mathbf{B}$, it is obvious that $N = 3x$ satisfies $\bar{g}(N) = \bar{g}(3x) = x$, $\bar{g}(N - \bar{g}(N)) = 2\bar{g}(N) = 10\underbrace{0000}$, and $\bar{g}(N + \bar{g}(N)) = 4\bar{g}(N) = 100\underbrace{0000}$. Of course, by assumption, $f(x) = f(\bar{g}(N)) \geq 4\bar{g}(N) = 4x$. Since the main theorem is true for $(a, N) = (a, 3x)$, we know the following. First, since $a > f(\bar{g}(N))$, we know that $L(a, N) = \bar{g}(N)$. Of course, we are also assuming $a > \bar{g}(N)$. This means that the removal of $\bar{g}(N)$ from at least one of the two piles must be a winning move. Therefore, one of the following must be true. Either $f(\bar{g}(N)) < L(a, N - \bar{g}(N))$ or $f(\bar{g}(N)) < L(a - \bar{g}(N), N + \bar{g}(N))$. Now by the assumption on a , we know that $a > f(\bar{g}(N - \bar{g}(N)))$ and $a - \bar{g}(N) > f(\bar{g}(N + \bar{g}(N)))$. Therefore, by the main theorem, $L(a, N - \bar{g}(N)) = \bar{g}(N - \bar{g}(N)) = 2\bar{g}(N)$.

Also, $L(a - \bar{g}(N), N + \bar{g}(N)) = \bar{g}(N + \bar{g}(N)) = 4\bar{g}(N)$. So we need $f(\bar{g}(N)) < 2\bar{g}(N)$ or $f(\bar{g}(N)) < 4\bar{g}(N)$. But since $\bar{g}(N) = x$ and $f(\bar{g}(N)) \geq 4\bar{g}(N)$, this is impossible. Therefore, the main theorem cannot hold for the position (a, N) , a contradiction.

- (3) We show that f satisfies Condition 3. Suppose there exists $x \in \mathbf{B}$ such that $1 \leq f(x) < x$. Consider the position $(a, N) = (2x, 2x)$. Since $x \in \mathbf{B}$, we can write this as $x = 1\underbrace{0000}$, and $2x = 10\underbrace{0000}$, $3x = 11\underbrace{0000}$. Of course, $\bar{g}(2x) = 2x$ since $x \in \mathbf{B}$.

Now no matter whether the position $(a, N) = (2x, 2x)$ satisfies Case 1 or Case 2 of the main theorem, $L(a, N) = L(2x, 2x) \in \{a, \bar{g}(N)\} = \{2x, 2x\}$, which means $L(2x, 2x) = 2x$. Let us now remove x counters from the smaller pile, which gives the new position $(x, 3x)$. We show that $f(x) < L(x, 3x)$. This means $L(2x, 2x)$ cannot exceed x , which means that $L(2x, 2x) = 2x$ is false, contradicting the main theorem.

Now $L(x, 3x) \in \{x, \bar{g}(3x)\} = \{x, x\}$. Therefore, $L(x, 3x) = x$ and $f(x) < x = L(x, 3x)$ is true by the assumption that we made about x .

- (4) We show that f satisfies Condition 4. Suppose there exists $x \in \mathbf{B}$ such that $f(x) \geq 2x$ and $x + f(x) > f(2x)$.

Consider the position $(a, N) = (x + f(x), 3x)$. Since $x \in \mathbf{B}$, $\bar{g}(N) = \bar{g}(3x) = x$. Now $a > f(\bar{g}(N))$ is true since $a = x + f(x) > f(x) = f(\bar{g}(N))$. Therefore, (a, N) comes under Case 2 of the main theorem, and $L(a, N) = L(x + f(x), 3x) = \bar{g}(N) = x$. This means that the removal of x counters from one of the two piles must be a winning move. This means that either 4a or 4b must be true.

- a. $f(x) < L(x + f(x), 2x)$. Now $\bar{g}(2x) = 2x$. Therefore, $f(\bar{g}(2x)) = f(2x)$.

Now $x + f(x) > f(\bar{g}(2x)) = f(2x)$ is true by the assumption on x .

Therefore, by Case 2 of the main theorem, we know that $L(x + f(x), 2x) = \bar{g}(2x) = 2x$. Therefore, $f(x) < L(x + f(x), 2x) = 2x$ is impossible since $f(x) \geq 2x$ is also assumed for x .

- b. $f(x) < L(f(x), 4x)$. Now $L(a, N) \leq a$ is always true when $a \geq 1$ since a is the smaller pile size. Therefore, $f(x) < L(f(x), 4x) \leq f(x)$ must be true, which is impossible.

□

The Misère Version

The strategy given in this paper *cannot* be used to play the misère version of this game. The misère version is a totally different game.

References

- [1] Elwyn Berlekamp, John H. Conway, and Richard Guy, *Winning Ways*, Academic Press, Vol. 1, A. K. Peters, 2001.
- [2] John H. Conway, *On Games and Numbers*, A. K. Peters, 2001.
- [3] Epp, Richard and Thomas Ferguson, "A Note on Takeaway Games", *The Fibonacci Quarterly* 18:4 (1980):300-303.
- [4] J. Flanigan, "Generalized two-pile Fibonacci nim", *Fibonacci Quarterly* 16, (1978): 459-469.
- [5] J. Flanigan, "One-pile time and size dependent take-away games", *Fibonacci Quarterly* 20, (1982): 51-59.
- [6] Richard K. Guy, *Fair Game*, 2nd. ed., COMAP, New York, 1989.
- [7] Holshouser, A, James Rudzinski and Harold Reiter, "Dynamic One-Pile Nim", *Fibonacci Quarterly* vol 41.3, June-July, 2003, pp 253-262.
- [8] Holshouser, A., Achim Flammenkamp and H. Reiter, Dynamic One-Pile Blocking Nim, *Electronic Journal of Combinatorics* Volume 10(1), 2003.
- [9] A. J. Schwenk, "Take-Away Games", *The Fibonacci Quarterly* 8:3 (1970):225-234.
- [10] Michael Zieve, "Take-away games", in *Games of No Chance*, Nowakowski, ed., Cambridge University Press, (1996) 351-361.